
 

2019-CURRENT RAM CREWCAB LOCKING UNDER SEAT 

STORAGE 

PART# USSRAM-02 

 

 

 

KIT CONTENTS: 

UNDER SEAT STORAGE ASSEMBLY AND BRACKETS 

HARDWARE KIT---CONTAINS 4 5/16-18 X ¾ CARRIAGE BOLTS, 4 5/16-18 NYLOC NUTS AND 4 
3/8” FLAT WASHERS 

INSTALLATION INSTRUCTIONS 
 

 

 

 

TOOLS REQUIRED FOR INSTALLATION: 

RATCHET 

10MM 12 POINT SOCKET 

FLAT BLADE SCREWDRIVER (IF EQUIPPED WITH FACTORY COLLAPSABLE UNDER SEAT 
STORAGE) 

T-20 TORX BIT (IF EQUIPPED WITH FACTORY COLLAPSABLE UNDER SEAT STORAGE) 

1/2 INCH SOCKET 

 

 
 

 

 

 

 



 

WARNING! 

Installing this product in your  

Vehicle requires the use of sharp objects. 

Please make sure you use the proper tools and use 

them in a safe manner. 

We are not responsible for injuries incurred while 

installing this product. 

 

 

 

 

 

 

 

 

 

 

 

 



 

RAM CREWCAB LOCKING  

UNDER SEAT STORAGE 

INSTALLATION INSTRUCTIONS 

TOOLS NEEDED:  10MM SOCKET, T20 TORX SOCKET, RATCHET, FLAT BLADE SCREWDRIVER AND 1/2 INCH 

SOCKET. REMOVE ALL CONTENTS FROM BOX 

1. REMOVE CONTENTS FROM THE BOX 

2. FLIP UP BOTH REAR SEATS 

3. IF YOUR TRUCK IS EQUIPPED WITH THE COLLAPSABLE PLASTIC UNDER SEAT STORAGE, ROTATE 

AND RELEASE THE REATINER IN THE MIDDLE OF THE STORAGE UNIT TO THE OPEN/FORWARD 

POSITION. 

4. REMOVE THE BOLTS FROM THE END PLATES THAT HOLD THE STORAGE TO THE SEAT MOUNTS 

ON EACH SIDE OF THE UNIT. THERE ARE THREE BOLTS THAT HOLD EACH SIDE. 

5. REMOVE IT BY PRYING ONE OF THE END PLATES TOWARD THE CENTER OF THE VEHICLE AND 

PIVOTING THAT END OF THE UNIT TOWARDS THE FRONT OF THE TRUCK. 

6. ONCE YOU REMOVE IT, THE END PLATES MAY BE REMOVED FROM THE UNIT BY REMOVING THE 

PIVOT BOLTS. THE ENDD PLATES MAY THEN BE REINSTALLED TO THE TRUCK USING THE 

ORIGINAL HARDWARE REMOVED IN STEP 4.  

7. REMOVE THE PLASTIC COVER THAT SURROUNDS THE RETAINER BY GENTLY PULLING TO 

RELEASE THE PRESSURE CLIPS. THEN REMOVE THE TWO T-20 TORX SCREWS. 

8. REMOVE THE OUTTER 10MM SEAT MOUNTING BOLTS ON BOTH DRIVER SIDE AND PASSENGER 

SIDE BRACKETS.  

9. AT THIS TIME TAKE THE MOUNTING BRACKET FOR THE PASSENGER SIDE (THE ONE THAT HAS 

THE LARGE HOLE FACING OUT TO THE DOOR, AND SLIDE IT UNDER THE PASSENGER SIDE SEAT 

BRACKET. DO THE SAME FOR THE DRIVER SIDE. REINSTALL BOTH OF THE 10MM SEAT BOLTS BUT 

DO NOT TIGHTEN YET. 

10. PLACE THE STORAGE UNIT IN THE TRUCK AND LINE UP THE SQUARE HOLES IN THE BOX TO THE 

BRACKETS. 

11. INSTALL THE 4 5/16-18 CARRIAGE BOLTS THROUGH THE BRACKET INTO THE STORAGE BOX AND 

INSTALL THE 3/8 WASHER AND 5/16-18 NYLOC NUTS AND TIGHTEN DOWN. 

12. TIGHTEN THE TWO 10MM SEAT BRACKET BOLTS.  

13. ENJOY YOUR NEW ESP TRUCK ACCESSORIES LOCKING UNDER SEAT STORAGE! 


